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S 5. Jake evaluates the expression 32+ 7% + 3%« 7-6. He says that the answer is zero.
§ Jake's work is shown below. Is his work correct? If not, what is the

H correct answer?

H 372750340778 = 3204758

5 —3.

H =3.0

] =0
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< Answer

]

€55 - Justify your answer.

Lesson 3 = Understand Zero and Negative Exponents 1
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Additional Practice

Name

Write each expression in an equivalent simplified form using only integers
raised to positive exponents.

LonE=_

2.20032027.3%=_

3 (TP (5P (-T) e (=5)

Solve the problems

=3) ( 4) i
4 Ave (rand (5

equivalent?

Answer

€ - Justify your answer.
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Answer

5. Melina said it is not possible to use the Quotient of Powers Property to
rewite -2 because 27 and 82 do not have the same base. Ariel said it
is possible, but you have to use another property of exponents first.
Who is correct?
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Lesson 4 = Learn Properties of Exponents 1





image4.png
aniites granted to users of Common Core Progress.

LESSON

(41 Additional Practice

Name

Tell whether the expressions are equivalent. If the expressions are equivalent,
show why. If they are not, write an expression that is equivalent to the
first expression.

1 (2P and =5

Solve the problems.
4. Identify the property the equation illustrates.
456 = q5en — g2




